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1
HBAMATIE, Fon T :

XX <950 950 < X <1050 X > 1050
n| 0.005 0.99 0.005

Y| Y=700 700 < Y <1300 Y = 1300
0.5 0 0.5

S 7] F € 3K By PLIT VLAY L = AT AR

n
BAk-F3HEa#H 2 B(X) = E(Y) = 10005,

1/20



o MMEZE X 69314 . E(X)
o XX FHEMNHZ  X— EX)
o XX THMEMMNFHAHL  E(X- EX)=0
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MAEE X 6¥ME : B(X)

XA THEH £ X — mm

XA Faan-FH&E 2 BX - EX) =
BB AR & R B T wﬂ.

EIX — B(X)’

= 7 £.

0
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2 L
%X A—AMAEE, & B{(X— EX)?} &4, 0
HEH X7 £, itHh DX), B

D(X) = E{[X — E(X)]}

¥ /D(X) itH o(X), HRATEE.
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2 S
%X R—AEMNEE, £ B{[X - BX)]?) &£, 0
T H X 87 £, eH D(X), B
D(X) = E{[X — E(X)]*}
¥ /D(X) ieH o(X), #RA Ak E.

D(X) & o(X) 4RI X BALG K S, 2= X BULSBAZE
HFHIE. F DX) B, N X BHAREE T, RZ, &
D(X) AR A, M BLEH X BAER 4. 2/99




77 28tk 1
o 4 g(X)=[X— EX)P? M
D(X) = E(g(X)).
7 E R X R g(X) HERFNE

4/20



T EMITE T AL

o HHWA: P{X=mn}=p,
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I EWTE T2

MR (x 2% R %)
D(X) = BE(X?) — [E(X)]".
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7 Wyt H Ty ik 2
MR (x ZF R «)
D(X) = B(X?) — [E(X)]*.

1F B ;

D(X) = B{[X - E(X)]"}
= B{X? — 2XE(X) + (E(X))*}
= E(X*) — 2E(X) E(X) + (E(X))?
_ B(X?) — [B(X)].
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T EWIE k2

S Al E B(X) A= B(X?)
o HWA: P{X=mn}=p,

EX) =) mp,  EX)=> a#p.
k=1 k=1

E(X) = /+OO zf(x)dr, E(X?) = - 7 f(x) dz.

0,9) —0o0
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o HENM X~ 0-1(p)

E(X) = p, D(X) = p(1 — p).

o =5 X~ b(n,p)

np, D(X) = np(1 — p).

B(X) =

o ARHH X~ m(A)

o JLITHH X~ Geom(p)
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o AL X~ m(A), T H D(X).
o WS X~ EO), it H DX).
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77 % 89 P

PR
1. & CARF# WA D) =0.
2. R XRMMEE, o LFHK N
D(aX) = a’D(X), D(X + a) = D(X)
A3, D(X) = D(—X).
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77 % 89 P

PR
3. XX YVAANENEE, NA

DX+ Y)=D(X)+ D(Y)+ 2cov(X, Y),

#£F cou(X, V) = B{[X— BX)|[Y - BV} #
A, & X5 Yiks, N

DX+ Y) = D(X) + D(Y).
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TiE BH ;

DX+ Y)=E{[(X+Y)— BE(X+ 30] }

= B{[(X — B(X)) + (Y — E(V))*}

= D(X)+ D(Y) + 2E{[X E(X)|[Y — E(Y)]}
0
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TiE B
DX +Y) = E{[(X+7Y) - E(X+ W] i
= B{[(X— E(X)) + (Y- E(Y))]'}
= D(X) + D(Y) + 2E{[X E(X)|Y = E(Y)]}
O
o MIM/R 1-3, HX, VAL, N
D(aX+bY+ C) = a>D(X) + b*D(Y).
o H—F, FX|,-- X, MEfEZ, N

D(co + z”: ¢iX;) = z": ¢; D(X;)

13/20



ZR 5 X~ b(n,p), H D(X).
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5l
% E(X)=p, DIX) = a®#0. it
X—H

X = :
g

N B(X*) =0, D(X*)=1. X* A X &4in T =
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5l
% E(X)=p, DIX) = a®#0. it
X—H

X = :
g

N B(X*) =0, D(X*)=1. X* A X &4in T =
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o X;~ N, %), i=1,2,---,n, MAREJk sz, N

a1X1—|—CL2X2+' . '-I—CLan ~ N <Z aid;, Z afaf)

1=1 =1
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5l

REERGAS (VA cm 1) X ~ N(22.40,0.03%), T4z
AZRA Y~ N2250,0.04%). X, Y 48B3 £
—RER, REERENAELGHE

18/20



5l

REERGAS (VA cm 1) X ~ N(22.40,0.03%), T4z
AZRA Y~ N2250,0.04%). X, Y 48B3 £
—RER, REERENAELGHE

f#:X — Y ~ N(—0.10,0.05?)

P{X<Y}=P{X-Y<0}
XY= (=01) 00— (=0.)
AT < T0.05

_ 3(2) = 0.9772.

}
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W1 E K% K (Chebyshev)

< 32
K XEH BX) =y DX) =0 NEESEH ¢,
)

0.2
PX—p > e} < 5
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W1 E K% K (Chebyshev)

< 32
K XEH BX) =y DX) =0 NEESEH ¢,
)

0.2
PX—p > e} < 5

L p A kSe, B(X) Ao D(X) AAEMHERT,

P{X— EX)| <&} >1- g

10/20



W1 E K% K (Chebyshev)

1E:
P{X—ul > ¢} = flz)dz
|z—p[>¢
12
< / 2= B )
o> &
+00 ) 2
S 2 N (z— p) " flz)de = 2



75 £ WM

e
e D(X)=0« P{X=EX)}=1
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7 £ 6P R
(R
e D(X)=0s P{X=EX)}=1.

BB (RtE) P{X=EX)} =1, MA
P{X*=(E(X)*} =1, N

D(X) = B(X?) — (B(X))* = 0.
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(2&F M) RGEk. Bk P{X=EX)} <1, N A&
>0 A
P{|X - E(X)| > €} > 0.

fedb T XK RF X, 5t Ve>0, A
P{|X — E(X)| > €} =0.
3 /&, # P{X=EX)} =1 0
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% 3]
BT R (X, V) OBET N

eV, O<z<y,
ﬂ%w{

0, else

£ D(X), D(Y), D(X+ Y), D(X2).
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% 7]
BT R (X, V) OBET N

eV, O<z<y,
ﬂ%w{

0, else

£ D(X), D(Y), D(X+ Y), D(X2).
£ DX —1), D2X2 —1).
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15
XXM EERE

fz) =

£ D(X).

9

)
1+

1l—=z

—1<z<O;
0<z<1;
HAb
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(l
PO ELY.q

1+ —1 <z <0;
flr)=q1—1z 0<z<I;

0 H Ak

\

& FE(X) :folx(1+:r; dx+f0 (1 — x)dz =0

E(XQ):IO 12(1+:z;dg;+f0 1_x)d5’7—6

D(X) = B(X?) — (E(X))* = 1
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il

0 H A,

K Y=X 87 % D

Y).
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COS & 0<z<F;

= {0 Spb.

KY=X w72 DY)

f#: B(X?) = f+0012f dx—fofzzcoszdx——Q—Q
BE(XY) = [T da:—fo Yeosadr = T — 3w + 24
D(X?) = B(X ) (E(X?))? =20 — 27",
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¢l

X|-201 3

£ D2X3 +5).
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N

o D(X) = B{[X— BOO} = ECX) — (B0
e D(aX) = a*D(X)

o DX+ Y)=D(X)+ D(Y)+ 2cov(X,Y),
HF cou(X,Y) = E{|[X - E(X)][Y— E(V)]}.
HAld, & X5 Yk, 0

D(X+Y)=D(X)+ D(Y).

o MLE X IREF X

0.2
P{lX—u >el < —
e 27 /99



TR BAMMT ENE S 7 £

Vi E(X)[ D(X)
X~0-1(p) | Pr= pk(lk—kp)l_k, k :ko, 1] p | p(1—=0p)
Py = CpH(1 — p)"F,
X b(nup) kZO,l,-“ N np np(l_p)
P Ae 2
X~ (A B TR A A
) k=0,1,---.n
Pp=p(1—p)" T 1 -1
X ~ Geom(p) F=1.2,... ! =
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FRESREANE ML 5T £

A E K E(X) | D(X)
A a<z<b| |, Y
X~ Ula, 1) f(a:){gj oo ey
l z
X ~ Erp(6) f(x){e or=0 g | g
0, else
_ (@
X ~ N(u, 0°) f(x) ma TR
<
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